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/TITLE
Latent Curve Model with Independent Variables
Created by EQS 6 for Windows

/SPECIFICATIONS
DATA="alcohol.ess’;
VARIABLES=6; CASES=363; METHODS=ML;
MATRIX=CORRELATION; ANALYSIS=MOMENT;

/LABELS

V1=T1; V2=T2; V3=T3; V4=AGE; V5=SEX; V6=ALC;
/EQUATIONS

V1= 1F1 + OF2 + 1El:

V2 = 1F1 + 1F2 + 1E2;

V3 = 1F1 + 2F2 + 1E3:

V4 = *V999 + 1E4;

V5 = *V999 + 1E5;

V6 = *V999 + 1E6;

F1 = *V4 + *V5 + *V6 + *y999 + 1D1;

F2 = *V4 + *V5 + *V6 + *V999 + 1D2;

/VARIANCES
V999 = 1.00; E1 TO E6 = *; D1 TO D2 = *;
/COVARIANCES
E4 TO E6 = *; D2, D1 = *;
/PRINT
FIT=ALL;
TABLE=EQUATION;
/OUTPUT
PARAMETER ESTIMATES; STANDARD ERRORS;
RSQUARE; LISTING;
/END
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DATA alcohol (TYPE=corr);

INPUT _TYPE_ $ _NAME_ $ t1 t2 t3 age sex alc;
CARDS;
N . 363 363 363 363 363 363
CORR t1 1.00 .
CORR t2 .68 1.00 .
CORR t3 .50 .68 1.00
CORR age .31 .31 .23 1.00 .
CORR sex .01 .06 .10 .14 1.00 .
CORR alc .12 .17 .20 12 -.15 1.00
MEAN . 1.36 2.12 3.18 12.91 0.52 0.56
STD . 2.81 3.98 4.79 1.41 0.50 0.50

PROC CALIS UCOV AUG DATA=alcohol;
LINEQS

0000000000000000 McDonald(1980) 000000000
oooooooOoOoOoOooooOoOOOOOoOOOCbOOOOOOOOOOn
oooooooooooOoOoooooooOoOoOoOoOooOoOoOooooOoOoOobooon
oo0200000000000000000000000D OMcDonald
ooooooooboooOoooboOoOono20000000000000O0
00000000000 00000000000 (covariance matrix for
uncorrected for the mean) 0000000000000 O0OOOUCOV

tl =1 f icept + 0 f_slope + el,
t2 =1 f icept + 1 f slope + e2,
t3 =1 f icept + 2 T _slope + €3,
f_icept = alpha_1 INTERCEP + di,
T _slope = alpha_2 INTERCEP + d2;
STD
el-e3 = dell-del3,
d1l-d2 = psil-psi2;
cov
d1-d2 = psi2l;
RUN;

00000000000000000000000 1000000000
OOOOLINEQS OO0 INTERCEP 000000000 OO0O00000O
00 AGOOOO0O000000O0O0O0O00O0O000.2
000000000000000000 f icept O f slope 000
00000dl 0 d200F dcept D fslope 00000000 OOO0
000000000000000000000000000 f_iceptO

21 Augmented covariance matrix 0 0000000000000 000 1000000
000 200000000000000 2000000000000000000000O
OO0O0OMcDonald 00 0000000000000 DOOO0DOOOODOO




244 o770 OoOoOoooOOoo

fslope000000O0O00OdIO d20000000000000000
ficept 0 fslope 0000000 DOO0O00O0OOOOONO0O000O0O
076000000000000000 7.7000000000000
0000000 ¢ 000000000000000000000000
00000000 tValueDDOOOOOO0OO00O0 (000 <1.96)00

—

077 0000000 Var(eg)

WARNING: The central parameter matrix _PHI_ has probably
1 negative eigenvalue(s).

Variances of Exogenous Variables

Standard
Variable Parameter Estimate Error t Value
El DEL1 -0.586345 0.746109 -0.786

O0OVar(4,) >0000000000000000000C0O0ORUN; OOO
gboobooboooooobooogoon

BOUNDS
dell >=0;

00000 780000000000 O0ODO
CALISOOO000O000D000O000000000000000000
00000000000000000000000000 Var(e;)>00
DDDDDV&@g:ODDDDDDVM@QDDDDDDDDDDDDD
0000 Var(e;) =000000000000000000000000
00010000022
000000000000000 SASOO0000 (PROCOOOODO

0)oo0 7900000000

22037 00000000000000000000 Var(e;) 0000000000000
ooo0oO0oooOo0oooooOoOoO0oooo

73. DODOoOoOooooOoon 245

078 1000000CALISOOOOOO

Manifest Variable Equations

T1 = 1.0000 F_ICEPT + 1.0000 E1
T2 = 1.0000 F_ICEPT + 1.0000 F_SLOPE + 1.0000 E2
T3 = 1.0000 F_ICEPT + 2.0000 F_SLOPE + 1.0000 E3
Latent Variable Equations
F_ICEPT = 1.3600*INTERCEP + 1.0000 D1
Std Err 0.1475 ALPHA 1
t Value 9.2212
F SLOPE = 0.8849*INTERCEP + 1.0000 D2
Std Err 0.1071 ALPHA 2
t Value 8.2655
Variances of Exogenous Variables
Standard
Variable Parameter Estimate Error t Value
INTERCEP 1.002762 0 0.000
El DEL1 0 0 .
E2 DEL2 5.302662 0.477406 11.107
E3 DEL3 4.266742 1.123232 3.799
D1 PSI1 7.896100 0.586912 13.454
D2 PSI2 3.272405 0.363435 9.004

73 0O0O0OOOOODOOOO0

obooobobooobobOooooboboboboboboooboooo
000000000000000000000000000%200000
oboooooobooboboooboo -bobooobooooboboo -gooboo
ooboooboboooooboobooobooboooboooooboooobooooo
gooobooobooooooboobooooobbooooooobobooo
gbobooobobooobooooobooobooobooboooooooo
goboooobooobooooooboboooooooboooboooboooo
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PROC CALIS UCOV AUG DATA=alcohol;
LINEQS
tl =1 f_ icept + 0 f_slope
t2 = 1 f_icept + 1 f_slope + e2,
t3 =1 f_icept + 2 f_slope + €3,

+el,

+

+
f_icept = alpha_1 INTERCEP + gamma_11 age + gamma_12 sex

+

+

+

gamma_13 ALC + d1,
gamma_21 age + gamma_22 sex
gamma_23 alc + d2,

f_slope = alpha_2 INTERCEP

age = m4 INTERCEP + e4,
sex = m5 INTERCEP + e5,

alc = m6 INTERCEP + e6;
STD

el-e6 = dell-del6,

d1-d2 = psil-psi2;
cov

dl-d2 = psi2l,

e4-e6 = del54

del64 del65;

BOUNDS

dell >=0;

RUN;

obobooo0o Obobobooboboooocoooooooboooooon
gboooodgbogbbboogbobooooboobobobobobab
gboboooooooooooobobooooboboboboobon
gbobooobooboooboobooooboooobooboooobooobooon
obbooobooooooooooooboooooooboooooooon
gboboboobobobobobobobobobobaonoaobooon
gbooboooobobobobooboobooooooooboobon
gboboooboboooboooooboo1boboobooooooooooooon
oboooobooooooobobooog
goboboogboboooooobobooubbbooobboooon

0000000000000 00000000000000000 (latent
growth mode)DM O OO 000000 (latent growth curve model)00
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00000000 (growth curve mode)D OO00O0O0OO0OUO0ODOOO

googoo
oobooOooboooobOoooooooobooooboooobooooon
ooboooboooooboooboooooboooboboobooobooooobooo
000000000 (0o0o0)0D0o00o0o00ooDO0ooOooUooDoooo
goboobooooboooooooooobooobobooobooobooo
O (eg,00000)0000O0D0O0O0OODOOUDOOOOUDOOOOO
oooooboooooooooboooboobooobooooobooooobooon
goboooooboooboooooobooooooooboooooooo
gboboooobobooooooobooooooooboooooboooooo
goboobooooooobooooobooooooboooobooboooooon
ooboooboooobooooooboooboooboooobooooooon
goboooooooboobooboboooooobooobooooobooo
goboobooooobooobooobooooooobbooobooooboon
(0000000000000 0O0O0O0)00D0O00DUOOooOOoooOO
goboboobooboooboooboooooooboooooooboooo
oboooobooooboooooooboooooboboooooboboon
gobooobooobooooooobobooobbooobooooobooon
00000000000 (D0o0O00)0000U00o0oUoDoooUooo
obooobooooHLMOOODODOOOO0ODODO0OO0O0O0bOO0O0oDOO0on
oooooobooobbooooobooooobooobbooooooobobooo
ooooDoooooooooog.?

2000000000000000000 Nealed MxOOOOMxOOOOOOOO
0000000000000 000000000D000ODO0O0000DO0O0OD0O (oo
00) 000000000000 URLOODOOOO: http://views.vcu.edu/mx/



